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ECONOMICS

( Honours )

Paper :. ECO-HC-1016
( Introductory Microeconomics )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. Answer the following questions (any ten) :
1x10=10

OO ETRY Teq it (R Geiet w=bt) -

fa) What is the problem of ‘choice’?
R e S

(b) Distinguish between a firm and an
industry.
9Bl AP S 9B SwmiT e wid T
411

{c) Mention one feature of capitalism.

Afeama @6t Q@RE Swd 4|

(d) State one feature of economic goods.

geftafos AT 96 @RE S 4|
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(e)

1]

(9)

(h)

(i)

()

(k)

@

(m) ‘

(n)

(0)

A23/447

(2

What is cross demand?

e oifa €2

Write the demand function.

oifewt ! |

What are complementary goods?
Ao ARIPR 62

Draw the demand curve of Giffen goods.

o AP SifAiEt o 4 |

What is the shape of perfectly inelastic
supply curve?

Fojef SRR @SNEIE Sighs (52
What is producers’ surplus?
GeAmRRA €98 97

Define opportunity sets.
Sl Akefoq el o |

What is income consumption curve?

oy Sorelst @A 52

Mention the concept of market demand.

I& ol 4EeG! St |

Distinguish between stock and supply.

TGO GF @9 Siee sl fdT 4|

Define imperfect competition.

s eferifre siget |

( Continued )

(3 )

(r) What is derived demand?
Tgo il L5as
(q) State one character of labour market.

9 qHT 96 @ S 4|

() What is meant by property rights?
offaq T92 6 @mR7

2. Answer the following questions in short
(any five) : 2x5=10

weTq ePPTIRY Y Oed fal (R @ie #imet)

(a) Distinguish between positive economics
and normative economics.

3ot wdAife e Tmdfie S¢Rfsy Tee
sl fefa w4

(b)) What is economic problem?

gtafes T 692

(c) Write any two features of basic
competitive model.

e afewbrenEe wifs R e 1o
GaREy forat| :

(d) Why is the cross elasticity of demand
for substitute goods always positive and
negative for complementary goods?
siftmi fede Rfmiee! fox smin fKest NE
Fge FNE 9F AREE AR e
AT 2?7
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(e

(9)

(h)

(i)

0)

A23/447

()

If price elasticity of demand for milk is
equal to unity (=1) and if at the price
of 40 per litre a household demands
40 litres milk, then how much milk
will be demanded at the price of ¥60
per litre?

3 N33 iftwR 79 Ffogrieel 9 W =
9iE I effe o ST Wi 40 5l RiAre
@bt AREERR 40 &R NANT A =@, oS
dfs febR 9t @ 60 Tt T S
Sifwta Afie fee 299

Why do two indifference curves not
intersect each other?

nole R @42 R AR @ aE?
Why is the supply curve of labour
upward sloping?

Y @i @91 e Sl =7

Distinguish between fixed and variable
costs.

=% “AResaier qre ond fefy =41

Mention two government policies to
enhance competition in the market.

a9 aferifet 9 wRY ot ot saial ANS
Y 9|

Why do input demand curves shift to
the left?

S SR et oy a1 g 7

( Continued )

(5

3. Answer the following questions (any four) :

5x4=20

Y ANERY ©ed Wl (R @i wifset) -

(@)

(b)

(c)

(@)

(e)

A23/447

What is price rationing? Explain the
impact of price rationing on the market.

1+4=5
T PSP [$? W TSR @EE TS
8oFe Aol B I, I T4

How does the profit motive drive the
market system? Discuss. 5

dred SRR PV I JRES SinifEe
FE? HIEHA F9

Explain the characteristics of a mixed
economy. : 5

e w4fSifey @RFErmR T 911

What is price mechanism? How does

price mechanism allocate resources?
1+4=5

W ofen &9 W diEEE @EmE e
fTeqs 37

What is budget line? How do changes
in income and prices affect the budget
line? Use diagrams. 1+2+2=5

s @4l 757 O E w1 SRR @
AEn @I deiie 7 bu Tare IR
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(9)

(h)

Show that a monopolist always operates
on the elastic part of the demand curve.
Why? 3+2=5

crgeal @ GHLA I G HifAl @9
foRIere TGS e o | a2

Establish the relationship between
average cost and marginal cost. Why
does MC curve cut AC curve from
below? 3+2=5
T W iF S T e TAWAE B0 Pl |
oifde @ @3 % I @UF oY o ol

& $E?

Explain the various factors determining

the demand for labour. S

W oIt fadiae w1 Rfen SRz a0
4 |

4. Answer the following questions (any four) :

©oq
(@)

A23/447

10x4=40
AT Oeq gt (R @i sifsst) -

What are the fundamental economic
Pro}nlems of an economy? How can
various economic problems be explained
through the use of production possibility
curve? 4+6=10
I AT fers wftaifos T s 52
fifen weftafes wupmes et el
(419 SRS (Fmed it R o412

( Continued )

(7

(b) How is efficiency of market linked with
producers’ and consumers’ surplus?
Explain. 10
TS T98 HIF (SISIN TFed F5S WIS
o & WEm SitR? Tl F9 |

(c) Explain the various factors determining
individual and market demand. 10

Jfeos oftm wie @R s ez
gl 40

(d) What is substitution effect? Explain the
concept of substitution effect with the
help of Hicksian and Slutsky method.

1+5+4=10
sifem R 52 Rl o 35 *mfes RS
offoPs [elea LI o 4|

(e) Explain the process of consumer’s
optimum choice with the help of indif-
ference curve approach. 10

forarere @ ReygeR Rige el I '™
AfeRIcet g F 4t ;

() Derive long-run average cost curve
from short-run average cost curves.
Give reasons for the U-shape of long-
run average cost curve. 8+2=10

Sl T I N RES AL e
o9 @ S 99| A e W

U-arfed @A PRPRR
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( 8 )

(g) Exﬁlain the behaviour of a profit maxi-
mizing firm in the short-run. 10

I TS @3 WS THIBII Ao
S5 G <+ |

(h) Discuss the rationale behind the
regulation of monopoly practices. What
role do antitrust policies play in
monopoly regulation? 7+3=10

GO TJPIE Frge a1 Jeges! SiEis
[ Gwhal JEE FEgee  TE-Rai
SN 5 il = ?

(i) Describe the various applications of
elasticity of demand in economics. 10

udifoe oiftn Rfegrieer R[fea e
3 1t

() Explain how wages are determined in a
competitive labour market. 10

Ao = @ TR QemE
fdifse =1, gt <

* & ok
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"ECONOMICS

( Honours )
Paper : ECO-HC-1026
( Mathematical Methods in Economics—I )

Full Marks : 80
Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

Answer either in English or in Assamese

1. Answer any ten of the following questions as
directed : 1x10=10
oo rEd R i Wb iR Sl fi

(a) How many subsets can be formed from
a set of n elements?

P 0yl G SR s T in M o M S DT
Topisafs SR #iiR?

(b) Write yes or no :
Is y=b" an exponential function?

= o R
y=b* &bl IHPR T A?

A23/448 ( Turn Over )



()

@

(e)

(9)

A23/448

(2)

If y= f(x)=b is a constant, then what
will be lim y?

x—=M

M y=flx)=b 9Bl & =, (@ lim y

x—>M

f* 2’37

State the relationship among average
revenue (AR), marginal revenue (MR)
and elasticity of demand (ed).

9% WY (AR), AIf$F ¥ (MR) i€ bifEAi
fogeel (ed)d TG B! forai |

State ordered pair.

e @[t &, fordt

Write true or false :
wT & T™F o4l

¢={0}

What will be the elasticity of demand of
the function D=10p™>?

D=10p~° To-GN bifvie Ffozree

?3?

( Continued )

A23/448

(3 )

(h) Find :
ey 0 :

Lz e*dx

(i) Write true or false :
wa @ wem el

(AuBY=A'nB'

() Choose the correct option :

Marginal revenue product of labour
(MRPL) = x Marginal physical
product of labour (MPPL).

[ Total revenue (TR) / Marginal
revenue (MR) |

wr s g ot -

A9 Aifge W Sedliwd (MRPL)
= x W difes IR =i

(MPPL).
[ 5495 W@ (TR) / &ifes =W (MR) ]

(k) Write a power function.

9Bl reiRF T fordl |

( Turn QOver )



(a5

()" Find the value of 3%.3%.
3% .3’53 I Sfereat |

(m) Write yes or no :
Is (3+V2)(3-V2) an irrational number?
o (1 7=y ferdr
(B+V2)B-V2) 95! SRR Y WEH?

(n) Evaluate :
i g 4

1
—_dx
%

(o) Draw a rough sketch of a rectangular
hyperbola of the function xy=c.
XY = ¢ T ARSI A9198T G0l JeTe @14
O 9

(p) Choose the correct option :

If the net investment I[t) is given,
then the time path of capital stock K
will be 5

[ differentiation of [[t) / integration
of It) |

A23/448

( Continued )

_

A23/448

( 5)

W e i o .
I W= Rivws [t fat A, o w9t
ol K9 ofeoi g9 |

[ (8T = [ [[t)S Fee |

(g Given demand function Q =500-5P,
find out the price to sell 200 units.
oifeml ¥ Q =500 -5PF #[1 200 B G
RER @ 79 fdas w4t

(r) Obtain the second-order derivative of
the function y=x%+2x.

y = x2 +2x TON0E 9 HOR I SRS
Tfereat |

2. Answer any five of the following questions :
‘ 2x5=10
werq TR R Il #iobi Sl firt

(a) If the demand curve under perfectly
competitive market is given by P=a, a
constant, show that it has perfectly
elastic demand.

T of efewifronEe @ee o @R
P=a, 95 &7 W, (o | oAl 794
g I sl
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(7))

( 6 )
) i
(b) Find the Cartesian product AxB from ) oy oy .
the following two sets : | (h) Find al' and % of the following
function :

oo fiEl ikefe R SR PIGRAN SFewe
AxB ffg <1 :

A={a,b}, B:{P’q;r} |

oo TR Y w2 fdy
6x1 6x2

y= xf +3x1Xp + SXxo

(c) Verify :
AeTe) fidod T
bc (i) Evaluate :
O=bp fote 1 -

Ilnxd.x

(d) Why is a constant added in integration
of a function?

e GBI AT A 51 &9 59 @ler w1 ,
77 - I () If the domain of the function y= 2+5x
: is the set {x|1<x<3}, what will its

range be?

i y=2+5x  FTAEOR  FCRG
(x|1< x <3} T, (W@ AN sffra & 292

(e) Draw a Venn diagram to show AnB.

ANnB (ERE 9B (o ba oz 4 |

() Define quasi-convex function.
3. Answer any four of the following questions :

SeeT-T T e R |
5x4=20
oo epprRd [ i BB Sl ol

(g9 Find the differential of the function
y:5x2+10x—8.
(@) Given A={1,2,3,4,5}, B={3,4,5,6,7},

y=5x%+10x-8 FoHN *[l v fdn find—

9
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( 8 ) (92

ot =it A={1, 2, 3, 4,5}, B={3, 4, 5,6, 7}, (d) A function is defined as follows :
g Fa— 9Bl Foie IR T Tl R
() AUB flo=x2 , x<1
@ AnB D5 e R
= x2 x>1
(i) A'nB Xihg
(iv) (A-B) 1+1+142=5 Is f(x) continuous at x=17?
T fl @, x=1 R b =2
te i
R (e) Find the total differential dy of the
fadg <4l - functiony = x¥x, — 25 + X2 .
y=x2xy —2x) + X2 TEOR T KA
lim J1+2x -41-2x dy fd w4
x—0 X - !
‘ - A () Find the relative extrema of the

following function :

©eq OB S e 5 AR Sfered
y=flx)=x>-12x* +36x+8

(c) If 0=AK°IP and a+p=1, then show
that

KQ—Q+L-§—Q=Q

oL
i (g Find four  second-order partial

derivatives of the following function :

oo ol TEEE ot Bifh faow gl Sk
ST e :

i 0= AKLP T IF a+p=l T, OB
oyed @

oQ oQ =2x2 - 3%, %3 + X
bty el S y 1 1X2 +Xo
K8K+ oL ¢
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( 10 )

(h) Show that the curve

Y= flx)=ax®+bx? +cx

can have a point of inflexion at x = —i.

3a
Y= fx)=ax® +bx2 + cx @R x = — L. |

3a
e 1S “ifvéa =7 =i 31 rgaiz Pt |

4. Answer any four of the following questions :
10x4=40
Co PIYRE R @It oifvb Seq Bt |

(a) Evaluate : y 2+2+2+2+2=10
e wat -

(i) %(2+3x)5
% d( 3x..1 2
—[ 5] 10e3* 2 ;2,2
(i) —|5logx+10e x+7xJ
(iti) jxe"dx
(i) “={2x® + 2

) [ (x*+5)ax

A48 ( Continued ) |

(b)

(c)

A23/448

(11 )

Given the price equation
P=1000-20Q, find the following :
2+2+2+3+1=10

P=1000-20Q "d ANFIIGR @l oo
i a4t -

(i) Marginal revenue (MR)
AT = (MR)

(ii) Slope of average revenue (AR)
1% S’ (AR)I S

(iii) Slope of MR
AifFd oI (MR)F «f

(iv) Elasticity of demand when Q=10

Q=10 T bR fsziwe

(v) Nature of the commodity

ANAGE 2ple

State and prove the quotient rule of
differentiation. Establish the relation-
ship between average cost (AC) and
marginal cost (MC) using the product
rule of differentiation. 5+5=10

TPl 23 RIETH it 9 O aAwie /4 |
I 299 KRG awst ¥ o 9@ (AC)
% AR I/ (MC)T ST T Foi 4 |
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(e)

A23/448

(12 )

d
(d) Find Exg of the function y=10x2+5

using the definiton of derivative, ‘
SIS W AW I y=10x245

dy
FEATDE e Oferaat |

A steel plant produces x tons of steel
per week at total cost of

g (%xS - 5x2 +90x 4+ 35)

Find the output level at which the
marginal cost attains its minimum.

a0l B PR Sy

1
(§x3 -5x2 4 99x+35) ot

Wﬁ%ﬁ%xﬁﬂﬁﬁ@ﬁ"mwlﬁ]ﬁaﬁ
mﬂhm@ewwﬁmqﬁﬁw;

A monopolist’s average revenue (AR)

and total cost (TC) functions are given
by

AR =16-20
TC =20 +4Q - 02

( Continued )

(9)

A23/448

(13 )

QIR T RuFod 51w S (AR) W% I
W (TC) FoEN Tal &iite FiEe

AR=16-2Q
TC =20 +4Q - Q?
Find—
e Fe—
(i) profit maximising output;
A S eI TIT S AR
(ii) equilibrium price;
OIFY ;
(i) maximum profit. 6+2+2=10

TR &S |

The production function of a
commodity is given by

3
Q=40L+3L2—%

where Q is the total output and L is the
labour input.

QB DT S Tow e &
3
Q=40L+3L2—%
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(R)

A23/448

(14 )

TS Q (= P TAMH WF L (IR AW
A |
(i) Find the number of units of labour

required to produce the maximum
output.

B (61 R et B o o e e
AQNEH 2, Sfered |

(i) Find the maximum value of the
marginal product of labour.

e ST SO T i Sed |

(i) Verify that when average product
of labour (APL) is maximum, it is
equal to marginal product of labour

(MPL). 4+3+3=10

%99 oI G (APL) 1% 20 3 *5q
2fee &AM (MPL)T 9 27 qf1 aifoors
il

Obtain the consumer’s surplus and
producer’s surplus, given the demand
function Q; =50-2pP, Qs =-10+2P
and price, p=2Q.

I o e Q4 =50-2P,
Qs =-10+2P A AF 7 p - 50 fit 2ics,

(OB TR IR wF Sesprq A Bl
|

( Continued )

()
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(15 )

Give the geometric interpretation of
definite integrals. Find the consumption

function C(Y), given marginal propensity

' 2L
to consume (MPC), C'(Y)=0-8+0-1Y 2
and the information that ¢ =Y when
Y =100 -

Ao SeIFeT wiNfees JROT SeRGHE |
™ EEREE AR #Fee (MPC),

C'(Y)=0v8+0-1Y_% 2 9F W vy =100

TE Cc=y ™ B G T C(Y)
oferedt |

* k& Kk

5+5=10
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